
Eefun Plays Doto
Doto is a famous game. In that game, each player controls N heroes where each heroes has an
infinite number of skills. These skills can be used to empower other heroes. Eefun is currently
playing with his N heroes, numbered from 1 to N.

The main objective of this game is to defeat the enemies with these heroes. However, Eefun
always lose the game, so now Eefun only try to make his heroes powerful.

Based on Eefun's logic, there are M requirements to make all of his heroes powerful. Each
requirement needs a hero A and a hero B. Hero A must use his/her skill to hero B to make B
more powerful. Moreover, if hero B and C needs skill from hero A, hero A can use his/her skill to
hero B. Then, hero B skills will be empowered with skills from hero A. Therefore, he can use his
skill to hero C. In this scenario, the number of skills activated is 2, where A doesn't get any skills,
B get skill from hero A, and C get skill from both hero A and B.

The skill is continuous, so if A give his skill to B, B give his skill to C, and C give his skill to A,
then every hero get every other heroes skills

Now Eefun is curious, how many skills must be activated to complete all his requirements 

Input

First line consists of 2 integers, N and M which denotes number of heroes and requirements.
Next M skills each contains 2 integers, A and B, which means hero B will be powerful if he get
skills from hero A. 

Output

Output an integer, the minimum number of skills which must be activated to complete all the
requirements

Example

Input 1:
3 4
1 2
2 3
3 1
2 1

Output 1:
3

Input 2:
5 5
1 5
3 4
4 3
2 5
1 3



Output 2:
5

Explanation

For the first case, hero 1 can give his skill to hero 2, hero 2 can give his skill to hero 3, and
hero 3 can give his skill to hero 1.
For the second case, one of the configuration is like in the picture below :

 

Constraints:

A ≠ B
1 ≤ A,B ≤ N
1 ≤ N ≤ 100.000
1 ≤ M ≤ 100.000
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